Exam 2 KeY
Q) Av(Bng)= §1,3,4,5,63
D) A-B = LU
¢y (AnCY =%1,2,45,6,7,3,4,103
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4) [a)=[4] o [5]=[a]




Thi s

o) False ble 13 is not an ordered poir
b) False ble & is not an odeved poic
Q) Trve ble 106Z ond YER
d) Folse ble Mé¢Z |

a) and
b) and

C,> ol'n

) d(BY=Y  sine. 1,3,5,(5 are the oply divisors

b)) Ves Sine 2:2=4 and 3,5 ar Prime. Nombers,
O No bk dE)=4#R-3=¢=d@-d()

d) No ble d(15)=d(8)=4 ond I5#8.

Let pe(AUBY. Then pé(AvB) implier pEA and P4B by 5bontest,
implis peA and Pe R implis P AN RS jmplis (AvBY € AN B

T show the other indusion, let pe ASNBE, Then peA™ and pe R .
imphes PEA ond PEB implies P4 (AUBD by b on ek Thish" pe(AuR)
implies AN < (AVRY"

Fosebrer

Both PWAU above” imply dhat | AUB\)C':AC‘(\ B™




Let £:R=>R where XX = 3X+5. To Show Jr}hq‘} £ s Q Ei\')cd:\u/;

1]

we Yred B ﬁ\t}w +hat £ Suqechive aind eckive. To Show tr
injeckive led pyg eR and asume FO=FDD. This meane Hoat
3p+5= 3945 Whickh in Yo plies Pt 3P=3‘1 \)\) Sub‘\‘ch\hmg 5 ‘me\
bobr sides oF +re, Brmen e‘iyajrim. Now O\\Vidivxf) e ladte~ m,m%ﬁm 333 3
Wwe olrtoin ‘W\wlv 9% - We have thos Shiwon \P\ﬂoﬂ' o all b, °)_€:R
TP=LY wplies p=9 ard 50 £ 15 injeckive. Nowdo Show Hhat
T 5 suirchve leb 96R. We need b Hind PER 50 ek H(Pd=q. =
loim Hhat p= =5 Wil wok. Firrt nak Phat PR Sine tea

3

Nombers ore Cloftd Ueder SUbtracion cind mulkiglicetion ie. p=3-(4-5) ond
h L and 5 are real nwbes. Now £(P)= 3p+5=3 (%z +5=9-5+5=9,

frne el

We have, Fhor shawn That e all 4R Fhow existe a peR sudh that $p=g.
This teans T 15 Sudeckive. Now Pagy WRnowe T bath ek
Ard Siryeckve B tigws Ther T ¥ bigere This Comb\e% Phe p;';ﬁ;w

ket PN be3+G+94+...+3n = 3n(n+)
2

| we Lird shows M) 5 Peve Tnoue care we have B(D‘:M:ii:?;
g ;l
Nk et kel and agume PO ¥ Frue . That is We asume Phe equalit
394G g+ 3k = 3K (KM holds. We need B show P(K+D) ir frve.,
2

Lok at | 3+G+ A+ +3K+3(KHD. Using Hha indudive hypetheris Hhir sum

eqpals Bk (k) | 3(kel) = skl L olked - 3K+ +e
2 2 2 2
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